ECO 410
Midtarm Exam
Fall 2014

100 points total. Answer each question in the space provided, using the back of the sheet if necessa ry.

1. (10pts.) Briefly explain the facts of Boomer v. Atlantic Cement Co., and then explain the novel
solution crafted by the judge.
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ECO 410
Midterm Exam
Fall 2014

100 points total. Answer each question in the space provided, using the back of the sheet if necessary.

1. (10pts.) Briefly explam the facts of Boomer v. Atlantic Cement Co., and then explain the novel

| © solution crafted by the judge.
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ECC 410
Midterm Exam
Fail 2014

100 points total. Answer each question in the space provided, using the back of the sheet if necessary.

1. (10pts.) Briefly explain the facts of Boomer v. Atlantic Cement Co., and then explain the nove!
[ o solution crafted by the judge, '
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2. {10 pts.) Establishing and enforcing a system of trademarks and trade namaes is costly to society
because it uses scarce resources. Briefly explain the benefits that might make it worthwhile.
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2. (10 pts.) Establishing and enforcing a system of trademarks and trade names is costly to society
because it uses scarce resources. Briefly explain the benefits that might make it worthwhile.
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(20 pts.) Establishing and enforcing a system of trademarks and trade names is costly to society

2. .
because it uses scarce resources. Briefly explain the benefits that might make it worthwhile
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{10 pts.) Establishing and enforcing a system of trademarks and trade names is costly to society
because it uses scarce resources. Briefly explain the benefits that might make it worthwhile.
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2. (10 pts.) Establishing and enforcing a system of trademarks and trade names is costly to society
{0 because it uses scarce resources. Briefly explain the benefits that might make it worthwhile.
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3. (10 pts.) What three basic economic questions must every economic system answer? Briefly
explain how a market system of economic organization answers each of these three questions.
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3. (10 pts.) What three basic economic questions must every economic system answer? Briefly
explain how a market system of economic organization answers each of these three questions.
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3. (10 pts.) What three basic economic questions must every economic system answer? Briefly
[0 explain how a market system of economic organization answers each of these three questions.
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3. {10pts.) What three basic economic questions must every economic system answer? Briefly
expfain how a market system of economic organization answers each of these three questions.
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4. (20 pts.} Abigail and Ann are stranded on an island. They are identical twins, and as such have
identical tastes. After some initial bickering, they decide to split everything equally until they
are rescued, guaranteeing that they will have identical marginal rates of substitution. They
produce and consume two goods, bananas (B} and fish {F). They pick bananas from the trees on
the island, and they catch fish in the lagoons on the island. They use only their own labor in the
production process, so they don’t have to worry about the marginal rate of technical
substitution between labor and capital. Their weekly production possibilities frontier is
illustrated below. They are currently producing combination A, with weekly production of
bananas equal to 20 and weekly production of fish equal to 45. While efficiency in consumption
is not an issue, they do have to worry about the other two aspects of efficiency. In fact, they
often sit around the campfire at night and talk about Pareto optimality. At their current
individual rates of consumption (B=10 and F=22.5), they agree that they wouid be willing to give
up two fish to get an additional banana. Their marginal rate of transformation is illustrated in
the diagram. They haven’t been able to decide whether their situation is Pareto optimal or not.
Fortunately they didn’t lose their cell phones when their boat wrecked, so they text you for
advice. Is this a Pareto optimal allocation of resources? Explain why or why not. If not, then go

’]/O through a simple example to explain how they can.increase their well-being.
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4, (20 pts.) Abigail and Ann are stranded on an island. They are identical twins, and as such have
identical tastes. After some initial bickering, they decide to split everything equally until they
are rescued, guaranteeing that they will have identical marginal rates of substitution. They
produce and consume two goods, bananas (B) and fish (F). They pick bananas from the trees on
the island, and they catch fish in the lagoons on the island. They use only their own labor in the
production process, so they don't have to worry about the marginal rate of technical
substitution between labor and capital. Their weekly production possibilities frontier is
ilfustrated below. They are currently producing combination A, with weekly production of
bananas equal to 20 and weekly production of fish equal to 45. While efficiency in consumption
is not an issue, they do have to worry about the other two aspects of efficiency. In fact, they |
often sit around the campfire at night and talk-about Pareto optimality. At their current
individual rates of consumption (B=10 and F=22.5), they agree that they would be willing to give
up two fish to get an additional banana. Their marginal rate of transfarmation is illustrated in
the diagram. They haven’t been able to decide whether their situation is Pareto optimal or not.

_ Fortunately they didn’t lose their cell phones when their boat wrecked, so they text you for
Q/‘D advice. Is this a Pareto optimal allocation of resources? Explain why or why not. If not, then go
through a simple example to explain how they can increase their well-being. '
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4. (20 pts.) Abigail and Ann are stranded on an island, They are identical twins, and as such have
identical tastes. After some initial bickering, they decide to split everything equally until they
are rescued, guaranteeing that they will have identical marginal rates of substitution. They
produce and consume two goods, bananas (B) and fish {F). They pick bananas from the trees on
the island, and they catch fish in the lagoons on the island. They use only their own labor in the
production process, so they don’t have to worry about the marginal rate of technical
substitution between labor and capital. Their weekly production possibilities frontier is
illustrated below. They are currently producing combination A, with weekly production of
bananas equal to 20 and weekly production of fish equal to 45. While efficiency in consumption
is not an issue, they do have to worry about the other two aspects of efficiency. In fact, they
often sit around the campfire at night and talk about Pareto optimality. At their current
individual rates of consumption {B=10 and F=22.5), they agree that they would be willing to give
up two fish to get an additional banana. Their marginal rate of transformation is illustrated in
tmmo decide whether their situation is Pareto optimal or not.
Fortunately they didn’t lose their cell phones when their boat wrecked, so they text you for
advice. Is this a Pareto optimal allocation of resources? Explain why or why not. If not, then go
through a simple example to explain how they can increase their well-being. '
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5. {20 pts.) Defining and enforcing ownership rights to natural gas has its challenges, since natural
gas exists in underground rock formations that often extend over long distances, lying below the
surface property of many different landowners. There are two general principles for

. establishing ownership rights to fugitive property such as foxes and natural gas. What are they?
Discuss the advantages and disadvantages of each in establishing who owns the gas.
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(20 pts.) Defining and enforcing ownership rights to natural gas has its challenges, since natural
gas exists in underground rock formations that often extend over long distances, lying below the
surface property of many different landowners. There are two general principles for
_establishing ownership rights to fugitive property such as foxes and natural gas. What are they?
Discuss the advantages and disadvantages of each in establishing who owns the gas.
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5. (20 pts.) Defining and enforcing ownership rights to natural gas has its challenges, since natural
gas exists in underground rock formations that often extend over long distances, lying below the
surface property of many different landowners. There are two general principles for

_establishing ownership rights to fugitive property such as foxes and natural gas. What are they?
Discuss the advantages and disadvantages of each in establishing who owns the gas.
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5. (20 pts.) Defining and enforcing ownership rights to natural gas has its challenges, since natural
gas exists in underground rock formations that often extend over long distances, lying below the
surface property of many different landowners. There are two general principles for

_establishing ownership rights to fugitive property such as foxes and natural gas. What are they?
Discuss the advantages and disadvantages of each in establishing who owns the gas.
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6. {30 pts.) The E Electric Company emits smoke, which dirties the wash at the L Laundry. No one
else is affected because E and L are located near to each other but far from anyone else. Ecan
abate this nuisance by installing scrubbers on its smokestacks. L can eliminate the damage by
installing filters on its ventilation system. The installation of scrubbers by E (at a cost of $500) or
filters by L {at a cost of $100) completely eliminates the pollution problem. The presence of
pollution {i.e. no scrubber and no filters) reduces s profits from $300 to $100. The following
table shows the profits of each company depending on what action is taken:

Q@&{\%{S no filter raundr
nmm/ L: $100 g\

Electric . E: $1000
Company B

scrubbers L $300 M-
‘ E: §500 ¥

. a) Suppose that you own both companies. W%at course of action would you take? Is your decision
efficient or is there an externality here that makes your decision inefficient? |
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b) Suppose that the companies are independently owned, and the laundry sues the electric
company for the nuisance they have created. The court decides in favor of the electric
company. What is the likely outcome and will it be efficient?
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¢) Suppose instead that the court decides in favor of the laundry, and grants an injunction
forbidding E from polluting. What is the likely outcome and will it be efficient?
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6. {30 pts.) The E Electric Company emits smoke, which dirties the wash at the L Laundry. No one
clse is affected because E and L are located near to each other but far from anyone else. Ecan
abate this nuisance by installing scrubbers on its smokestacks. L can eliminate the damage by
installing filters on its ventilation system. The installation of scrubbers by E (at a cost of $500@
filters by L (at a cost of $100) completely  eliminates.the pollution problem. The presence of
potlution (i.e. na scrubber and no filters) reduces Us profits from $300 to $100. The following
table shows the profits of each company depending on what action is taken:

Laundry
no filter filter
no scrubbers L: $100 ¢“§‘~,\\GO L: $200 ‘\S \2.00
Electric - E: $1000 E: $1000
Company
~ scrubbers L: $300 %400 L: 5200 % 00
: E: $500 E: S500
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‘a} Suppose that you own both companies. What course of action would you take? Is your decision
officient or is there an externality here that makes your decision inefficient? -
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b) Suppose that the companies are independently owned, and the laundry sues the electric
company for the nuisance they have created. The court.decides in favor of the electric
company. Whatis the likely outcome and will it be efficient?
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o ¢} Suppose instead that the court decides in favor of ’ghe laundry, and grants an injunction
L forbidding E from polluting. What is the likely outcome and will it be efficient?
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6. (30 pts.) The E Electric Company emits smoke, which dirties the wash at the L Laundry, No one
else is.affected because E and L are located near to each other but far from anyone else. Ecan
abate this nuisance by installing scrubbers on its smokestacks. L can eliminate the damage by
instailing filters on its ventilation system. The installation of scrubbers by E (at a cost of $500) or
filters by L {at a cost of $100) completely eliminates the pollution problem. The presence of
pollution {i.e. no scrubber and no filters} reduces L's profits from $300 to $100. The following
table shows the profits of each company depending on what action is taken:

Laundry
no filter
_ no scrubbers L: $100
Electric N E: $1000
Company
scrubbers L: 300
: E: $500

a) Suppose that you own both companies. What course of action would you take? Is your decision
efficient or is there an externality here that makes your decision inefficient?
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b) Suppose thatthe companies are independently owned, and the laundry sues the electric
company for the nuisance they have created. The court decides in favor of the electric
company. What is the Jikely outcome and will i be efficient?
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- c} Suppose instead that the court decides in favor of t.he laundry, and grants an injunction
forbidding E from polluting. What is the likely outcome and will it be efficient?
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